POLANIK tel. +48 44 646 44 81 e-mail: info@polanik.com
Poland, Zyczliwa 11 tel. +48 44 648 50 89 www.polanik.com
97-300 Piotrkéw Trybunalski fax +48 44 646 43 58

- polanik.

we help to win

User's manual

Protection cover for throwing circle
PC16-S0512

File: 2018-04-06

PRODUCT SUPPORT

Pawet Ciechanowski
p.ciechanowski@polanik.com



mailto:p.ciechanowski@polanik.com

POLANIK tel. +48 44 646 44 81 e-mail: info@polanik.com °
Poland, Zyczliwa 11 tel. +48 44 648 50 89 www.polanik.com /{pol an’k
®

97-300 Piotrkéw Trybunalski fax +48 44 646 43 58

we help to win

Warning!

The sports equipment produced by POLANIK is designed for athletics training and use in sports competitions only. Please
pay special attention especially when using throwing implements and other throwing equipment, misuse of athletics
equipment and implements can cause serious injury. In no event shall POLANIK be liable for any special, incidental, indirect
or consequential damages in connection with the purchase or use of POLANIK products or costs over the original cost of
the product. Concerning our permanent efforts to improve our products i.e. their quality and aesthetic values, we reserve
the right to introduce, without prior notice, constructional changes as well as other modifications in standard colours of
the equipment and implements.

Specific warranty terms:
1. Fading of PVC fabric colour or stains caused by UV radiation, snow and rain are excluded from the warranty.

User’s manual PC16-S0512 2/5



POLANIK tel. +48 44 646 44 81 e-mail: info@polanik.com °
Poland, Zyczliwa 11 tel. +48 44 648 50 89 www.polanik.com /{pol an’k
®

97-300 Piotrkéw Trybunalski fax +48 44 646 43 58

we help to win

I. General description and use
The cover is designed to protect the surface of the athletics throwing circles which are permanently installed in the
surface of the throwing facility (for: discus throw, hammer throw and shot put) against unfavourable weather conditions.

Il. Parts (part sets) list

Iltem Part/set description (F:}c_zy Part/set sketch
1 Cover steel segment 4 —
2 PVC cover 1 .
3 Plastic plug 1 ‘
4 Handle 4 ﬁ
Set of screws, nuts and washers:
-nut M8 = 28 pcs
-washer M8 standard = 28 pcs [ 23
5 -washer M8 wide = 8 pcs 1 o
-screw M8x16 = 8 pcs %
-screw M8x20 =20 pcs
-screw hex key M8 =8 pcs

User’s manual PC16-S0512 3/5



POLANIK tel. +48 44 646 44 81 e-mail: info@polanik.com
Poland, Zyczliwa 11 tel. +48 44 648 50 89 www.polanik.com
97-300 Piotrkéw Trybunalski fax +48 44 646 43 58

-~y polanik.

we help to win

lll. Assembly
Step | Description Image
1 Put the cover steel

segments (item 1) on
the ground according to
the labels, “1” next to
“1”, “2” next to “2” and
so on.

2 Connect the segments
one by one starting from
the connection “1-1”,
use the included screws
(item 5), install them
with hands first, use:

- screws M8x16 and
washers M8 on the
circle edge,

- screws M8x20 with
standard washers M8
and nuts M8 for the

circle ribs.

3 Install the top plastic
plug (item 3).

4 Tighten all the screws

with wrenches.

5 The holes labelled “R”
are used to install the
handles (item 4) after
you put on the PVC
cover.

User’s manual PC16-S0512 4/5



POLANIK tel. +48 44 646 44 81 e-mail: info@polanik.com
Poland, Zyczliwa 11 tel. +48 44 648 50 89 www.polanik.com
97-300 Piotrkéw Trybunalski fax +48 44 646 43 58

-3 polanik.

we help to win

Step | Description

6 Put the PVC cover (item
2) on the steel
construction, match the
blue stripe on the edge
of the steel circle with
the blue stripe on the
PVC cover.

7 Install the handles (item
4) in the holes labelled
“R”, use: screws hex key
M8, washers M8
standard and nuts M8.

8 Use the rest of the steel
eyelets to fasten the
PVC cover to the steel
construction, with the
screws M8x20 with
widen washers M8 and
nuts M8.

9 Now the cover is ready
for use in the throwing
facility.

IV. Operation and maintenance

The cover is equipped with four handles for carrying by two people. Do not put any objects on the cover. Do not climb or
step on the cover. Remove regularly remaining snow and water from the cover top surface. Do not leave snow or water
to dry on the cover surface. To clean the cover use commonly available detergents, first try to clean a small spot on its
bottom side in order to check the reaction with the PVC fabric. Any revealed damages in zinc layer ought to be protected
with anticorrosive paint.

V. Used covers

The used cover must not be discarded with household waste, instead it should be delivered to a specialized waste and
recycling collection centre.

User’s manual PC16-S0512 5/5



